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ITS323 – Quiz 5

Name: ______________________________________________

ID: ______________________________ Mark: __________ (out of 5)

Question 1 [3 marks]

Explain two advantages of datagram packet switching (compared to circuit switching).

Question 2 [2 marks]

With a datagram packet switching network, assume hosts are sending at a total of 2Mb/s on average 
into the network. The network capacity is 2Mb/s. Explain two performance metrics that may change 
(and how they change), if the hosts send at a total of 3Mb/s.
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